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'Affiliated to Tribhuwan University ' 

Birgunj College  
Shreepur Birgunj-11 

Scholarship Test Model Question 

 

Name : ………………………………………………………………………  F.M.:-100 

Roll No. : ……………………..  Time:- 1:30hrs.      P.M.:- 35 

 

English (20 Marks) 

Attempt all the questions. 
1. There is ……… European in the conference hall.  

     A. the    B. a    C. an    D. no article 

2.  Saurav is very interesting ………music. 

     A. off     B. of      C. in                 D. about  

3. She never visits a  temple, ………….? 

    A. does she      B. doesn‟t she          C. is she    D. isn‟t she 

 4. He is the friend………I trust most. 

     A. Whom    B. who            C. what     D. which  

5. Neither boys nor girl ….….. a pen . 

     A. is     B. are     C. does   D. has  

6. Which one is the correct negative form of the sentence „ She has come‟. 

      A. She has not already come.     B. She has not come.  

      C. She has not yet come.     D. She has never come. 

7. The earth always…….around the sun. 

       A. revolves    B. revolve    C.  revolved    D. is revolving  

8. He got his father………him in a reputed hospital. 

       A. to admit   B. admitted    C. admit   D. admits 

 9. BCPL lies………….north of Indian Embassy. 

       A. on    B. in     C. about    D. to 

 10.  He came ………..Kathmandu yesterday.  

        A. for    B. about    C. from    D. with  

11. ……………he was poor, he was intelligent.  

        A. in spite of    B. though    C. but      D. therefore  
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12. The sky is cloudy. It ……… rain today.  

        A. should    B. can     C. might    D. could 

 13. He is……….man of high ambition.   

        A. an    B. a     C. some    D. none 

 14. If I had known………, I would never have asked you about it.  

         A. was doing it  B. how to do it   C. to do it              D. could have been done  

15. He…………a call to his father. 

        A. told   B. said     C. made    D. asked 

16. Socrates said nothing ..........harm a good man. 

        A. can     B. could    C. would        D. a and b 

 17. I had to call him, ………..?  

        A. hadn‟t I     B. had I    C. didn‟t I     D. did I 

 18. Sonia _____ me that you were ill. 

        A. said    B. asked    C. tell      D. told 

19. Ram said to his friend, “__________?” She replied that she was from Doti. 

        A. Where she is from  B. where she was from  C. where are you from  D. where I am from 

20. He seldom remembers me after his marriage, ……… ? 

        A. remembers he  B. does he    C.  don‟t she     D. doesn‟t she  

g]kfnL -@) c+s_ 

@!_ tnsf jfSodWo] sd{jfRo s'g xf] <  

s_ eft vfOof]   v_ p;n] k|Zg ;f]Wof]  u_ v"a xfFl;of]   3_ /flt ;'ltof]  

@@_  snf/f h]6lsg s'g b]zsL gful/s x'g <  

     s_ ?;    v_ k|mfG;    u_ cd]l/sf    3_ hd{gL 

@#_ tnsf ls|ofkb dWo] cEo:te"t sfn s'g xf]  < 

    s_ hfGYof]               v_ hfG5                  u_ uof]               3_ uP5  

@$_ ;Gt'li6 sljtfsf] /rgfsf/ sf] x'g <  

     s_ /ljnfld5fg]   v_ dfwj l3ld/]   u_ b]jsf]6f    3_ e/t/fh kGt  

@%_ OR5fy{s jfSo tnsf dWo] s'g xf] < 

     s_ pm ahf/ hfG5      v_ pgLx? ahf/ hfnfg\     u_ ltdL sfd u/  3_ ltdL kf7 k9]  

@^_ dfphË afa';fx]asf] sf]6 syfsf syfsf/ sf] x'g <  

    s_ ejfgL leIf'    v_ uf]kfn d}gfnL   u_ u'?k|;fb d}gfnL   3_ kfl/hft  
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@&_ yfª\sf s'g wd{;Fu ;DalGwt 5 <  

     s_ lxGb"   v_ af}4   u_ ls|Zrg    3_ O{:nfd  

@*_ uf]/L s]6L v'?v'? cfO{ . jfSodf ls|ofljz]if0f s'g xf] <  

    s_ cfO{    v_ s]6L    u_ uf]/L    3_ v'?v'?  

@(_ xnfxnsf] kof{ojfrL zAb s'g xf] . 

    s_ /x/    v_ hx/    u_ kx/    3_ sx/  

#)_ tnsf dWo] z'4 ?k s'g xf] <  

    s_ x'g' eof]   v_ x'g"eof]    u_ x'g'eof]   3_ x"g'eof] 

#!_ jiff{ sljtfsf slj nIdL k|;fb b]jsf]6fsf] hGd slxn] ePsf] xf] <  

    s_ lj=;= !(^# ;fn  v_ lj=;= !(^% ;fn   u_ lj=;= !(^$ ;fn   3_ lj=;= !(^^ ;fn  

#@_ ;Gb's ?Otsf] hGd slxn] ePsf] lyof] <  

     s_ @)!@ ;fn   v_ @)!# ;fn   u_ @)!!    3_ @)!) ;fn  

##_ eLdlglw ltjf/Lsf] hGd slxn] ePsf] lyof] <  

     s_ lj=;= !(&( ;fn  v_ lj=;= !(^^ ;fn   u_ lj=;= !(^* ;fn   3_ lj=;= !(^% ;fn 

#$_ nIdLk"hf syfsf] k|d'v afnkfq sf] xf] <  

     s_ dfgrf   v_ nfn    u_ k|]drf    3_ ;fgrf   

#%_ ;Gb's ?Ot s] sf 8fS6/ x'g <  

     s_ cfFvfsf]   v_ sfgsf]    u_ g;fsf]    3_ xf8hf]gL{sf]  

#^_ kbju{ slt ju{df ljeflht 5 <  

     s_ %    v_ &     u_ (     3_ !@ 

#&_ hoe'F8L lgaGwdf e}/j cof{nn] slt lsl;dsf] e'F8L atfPsf 5g\ <  

     s_ #   v_ @    u_ %    3_ $  

#*_ uf]kfn /fd|/L k9]/ ;kmn eof] , jfSodf …/fd|/LÚ s] xf] <  

    s_ ls|ofljz]if0f   v_ ;j{gfd    u_ ljz]if0f    3_ ls|ofkb  

#(_ t'sf]{ s:tf] zAb xf] <  

    s_ kof{ojfrL   v_ cg]sfy{s    u_ n3'jfrL    3_ cGo  

$)_ ‘pNn]v‟ s;/L lgdf{0f ePsf] zAb xf] <  

    s_ ;dfzaf6    v_ ;u{af6     u_ l4Tjaf6     3_ ;lGwaf6  
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Social Studies (20 Marks) 

$!_ ;fdflhs cWoogsf] ;'?jft s'g b]zaf6 ePsf] xf] <   

    s_ ef/t    v_ cd]l/sf     u_ hfkfg    3_ k|mfG; 

$@_ cfGw| dxf;fu/ s'g cfsf/sf] 5 <   

    s_ P    v_ Q    u_ R    3_ S 

$#_ :yfgLo ;/sf/ ;~rfng P]g @)&$ cg';f/ t/fOdf slt lhNnf /x]sf 5g\ <  

    s_ !*   v_ !(    u_ @)    3_ @!  

$$_ g]kfnsf] klxnf] ;+ljwfg;efsf] lgjf{rg slxn] ;DkGg eof] <   

    s_ @)^$÷!@÷@* v_ @)^$÷!@÷@&   u_ @)^$÷!@÷@^   3_ @)^$÷!@÷@% 

$%_ slt l8u|L b]zfGt/ /]vfnfO{ k|wfg dWofGg /]vf elgG5 <  

    s_ 0
0
      v_ 30

0
    u_ 66.5

0
    3_ 90

0
 

$^_ g]kfn ;/sf/n] g]kfnnfO{ slt :yfgLo txdf ljefhg u/]sf] 5 <  

    s_ &%!   Vf_ &%@   u_ &%#   3_ &%$ 

$&_ g]kfndf jt{dfg ;ljwfgn] slt cf]6f df}lnsxssf] Joj:yf u/]sf] 5 <  

    s_ #!    v_ #@    u_ ##    3_ #$ 

$*_ @)&* sf] hgu0fgf cg';f/ k;f{ lhNnfsf] s"n hg;ªVof slt /x]sf] 5 <  

    s_ ^,)!,)!^  v_ ^,)!,)!&   u_ ^,)!,)!*   3_ ^,)!,)!(  

$(_ g]kfnsf] gofF gS;f slxn] hf/L ul/Oof] <  

    s_ @)&^ h]7 %  v_ @)&& h]7 %  u_ @)&* h]7 %   3_ @)&( h]7 %  

%)_ s}nfzs'6 ejg s'g z}nLdf ag]sf] 5 <   

    s_ Kofuf]8f   v_ :t"k     u_ lzv/     3_ cfw'lgs  

%!_ s'g lrqnfO{ yfª\sf lrq klg elgG5 <  

    s_ u|Gy    v_ kf}ef     u_ let]     3_ a'4 lrq  

%@_ g]kfn ;Dat s;n] k|rngdf NofPsf] lyPF <   

    s_ c+z'jdf{   v_ /fdzfx    u_ z+vw/ ;v'jf   3_ g/e"kfn zfx 

%#_ g]kfnL k|flrg k/Dk/f cg';f/ g]kfndf slt cf]6f snf /x]sf] 5 <  

     s_ ^#   v_ ^$    u_ ^%    3_ ^^  
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%$_ g]kfnnfO{ wd{ lg/k]If /fHo 3f]if0ff slxn] uof]{ <  

     s_ @)^#÷)@÷)#  v_ @)^#÷)@÷)$  u_ @)^#÷)@÷)%   3_ @)^#÷)@÷)^  

%%_ slt ld6/ prfOdf ;w}el/ lxpF k5{ <   

     s_ %))) ld6/   v_ ^))) ld6/    u_ &))) ld6/   3_ *))) ld6/  

%^_ g]kfnsf] lhpFbf] ;lxb s;nfO{ elgG5 <   

     s_ 6+s k|;fb cfrf{o    v_ elSt yfkf              u_ dfyj/ l;+x        3_ nvg yfkf  

%&_ d+unjf/sf] lbg s]6L dfUg] / d+unjf/ s} lbg hGtL hfg] hflt s'g xf]  <  

     s_ r]kfª   v_ u'?ª                     u_ du/   3_ /fhj+zL 

%*_ g]kfnsf] k"j{ klZrt cf};t nDafO{ slt ls=ld= /x]sf]5 <  

     s_ **$ ls=ld=  v_ **% ls=ld=             u_ **^ ls=ld=            3_ **& ls=ld= 

%(_ ljZj ;Dkbf ;"rLdf ;"rLs[t g]kfnsf] ;Dkbf tnsf dWo] s'g xf] <  

    s_ hfgsL dlGb/   v_ kz'kltgfy              u_ /fhb/jf/   3_ jlb{of /f= lg= 

^)_ elSt yfkfnfO{ slt cf} /fli6«o lje"ltdf 3f]if0ff ul/Psf] 5 <  

     s_ !$ cf}       v_ !% cf}                 u_ !^ cf}    3_ !& cf}  

Math (10 Marks)  

61. If   afx 4560  and   af 912  then the mean is  

    a) 4    b) 5    c) 6    d) 7 

62. The marked price of a calculator is Rs. 1000. If 10% discount is allowed then the selling price of calculator  

       is  

    a) 1100   b) 800    c) 900    d) 950 

63. If A and B are only subset of U then )( BAn  =……..  

    a) n( A-B)    b) n(B-A)    c) n(U)    d) none of above 

64. Pure surd of m 3 a  is  

    a) 
3 3ma    b) 

3 3am    c) ma2
   d) 

3am  

65. If a =a
y
 then the value of y is  

     a) 2    b)  1    c) 
2

1
    d) 0 

66. The annual compound interest for 1 year or less will be same as  

     a) Principal   b) Amount    c) simple interest   d) None of them  
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67. Which is not the formula of medina in continuous data 
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68. If the compound interest of Rs. 100 for 6 months is Rs 20 then the rate of interest is   

     a) 20%    b) 5%    c) 15%    d) 10% 

69. If       0153  yx  then the value of x & y are  

      a) (-2, - 5 )   b) ( 2, 5 )   c) ( 4, 5 )    d) ( -4, -5 )  

70.  n
th

 term of AP is   

     a) a+(n-1)d   b) a+(n+1)d  c) a+nd   d) none of them  

G=k=(20 Marks) 

&!= ljwfno lzIffsf jt{dfg /fli6«o p2]Zox? slt cf]6f lgwf{/0f ul/Psf] 5 <  

   s_ !)            v_ !!              u_ !@    3_ !# 

&@= lzIff P]g @)@* -;+zf]wg;lxt_ cg':ff/ ljBfno Joj:yfkg ;ldltdf slt ;b:oLo x'g] Joj:yf 5 <  

   s_ ^      v_(                  u_!!         3_!# 

&#= g]kfnsf] klxnf] ljBfnosf] :yfkgf slxn] ePsf] xf] <  

   s_ lj=;= !(!)            v_ lj=;= !(@)                u_ lj=;= !(#)            3_ lj=;= !($) 

&$= ljBfno lzIff slt sIff;Dd nfu' ul/Psf] 5 <  

    s_ !)         v_ !!              u_ !@            3_ !#   

&%= ;a}eGbf sd ;fIf/tf ePsf] lhNnf s'g xf] <  

    s_ k;f{   v_ af/f                    u_ /f}tx6               3_ ;nf{xL  

&^=lnlvt ;+ljwfg gePsf] ;fs{ /fi6« s'g xf] <  

    s_ e"6fg             v_ g]kfn                      u_ ef/t                     3_ kfls:tfg  

&&_ /fd 6fpsf] 6]s]/ plePsf] 5 . olb p;sf] cg'xf/ pQ/ tkm{ kmls{Psf] 5 eGg] afFof xft s'g lbzftkm{  

     xf]nf< 

    s_ k"j{              v_ klZrd               u_ pQ/                    3_blIf0f 

&*_ g]kfndf hgu0fgf lng] sfd slxn] b]lv ;'? ePsf] xf] <  

   s_ lj=;+= !(^*   v_ lj=;+= !(&)    u_ lj=;+= !(*)  3_ lj=;+= !(() 

&(= g]kfn a+ufnsf] vf8L ;d'Gb« b]lv slt 6f9f /x]sf] 5  < 

   s_ !)@& ls=ld      v_ !!@& ls=ld       u_ !@@& ls=ld            3_ !#@& ls=ld            
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*)= 3f]8f3f]8L tfn s'g lhNnfdf kb{5 <  

   s_ s}nfnL               v_ afFs]                  u_ alb{of               3_ s~rgk'/  

*!= g]kfnsf] ;jeGbf a9L pRrfOdf /x]sf] tfnsf] gfd s] xf] <  

   s_ ;] kmf]S;08f] tfn  v_ /f/f tfn    u_ ltlnrf] tfn   3_ j]ugf; tfn  

*@_ d+l;/– k'if dlxgfdf s'g Ct' kb{5<  

   s_ x]dGt     v_ z/b    u_ a;Gt    3_ u[id  

*#_ ufOhfqfsf] rng ;j{k|yd  s;n] rnfP <  

    s_ k|tfk dNn  v_ /+lht dNn   u_ hok|sfz dNn   3_ hol:tyL dNn 

*$_ d jf3sf] 8d? x', l;gf] vfg] s's'/ xf]Og of] egfO s;sf] xf] <  

    s_ led;]g yfkf   v_ cd/ l;+x yfkf   u_ k[YjLgf/fo0f ;fx   3_ /0f axfb'/ ;fx  

*%_ g]kfndf slt k|sf/sf of;f{u'Daf kfOG5 <  

    s_ !!    v_ !@    u_ !#     3_ !$ 

*^_ ?vsf] kft xlNnbf slt 8]l;an Wjlg pTkGg x'G5 <  

    s_ (    v_ !)     u_ !!     3_ !@ 

*&_ ;'o{sf] k|sfz k[YjL;Dd cfO k'Ug slt ;do nfU5 <  

    s_ * ldg]6 @) ;]s]08  v_ !) ldg]6 @% ;]s]08  u_ & ldg]6 @) ;]s]08  3_ * ldg]6 !);]s]08  

**_ prfO gfKg k|of]u ul/g] oGq s'g xf] <  

    s_ clN6 ldl6/   v_ km]bf]ld6/    u_ aof/f]ld6/   3_ xfOu|f]ld6/  

*(_ g]kfnsf] klxnf] /fhdfu{sf] gfd s] xf] <  

    s_ lqe'jg /fhky  v_ dx]Gb| /fhdfu{      u_ c/lgsf] /fhdfu{   3_ k[YjL /fhdfu{  

 ()_ g]kfndf hDdf slt j6f efiff af]lnG5g <  

    s_ !@$   v_ !@%   u_ !@^    3_ !@& 

Current Affairs (10 Marks) 

(!_ g]kfnsf] jt{dfg lzIff dlGqsf] gfd s] xf] <  

    s_ czf]s /fO{   v_ k|lbk /fO{    u_ tf]l;df sfls{   3_ zlSt a:g]t 

(@_ g]kfndf O{ – /fxbfgL ljt/0f slxn] b]lv ;'? ePsf] xf] <  

    s_ lj=;+= @)&*   Vf_ lj=;+= @)&(       Uf_ lj=;+= @)*)   3_ lj=;+= @)&& 

 (#_ g]kfndf :yfgLo txsf] lgjf{rg @)&( slxn] ;DkGg eof] <  

    s_ a}zfv @^   v_ a}zfv @&    Uf_ a}zfv @(    3_ a}zfv #)  
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($_ g]kfnsf] !# cf} ljZjljBfno s'g xf] <  

    s_ lqe'jg  v_ dw]z    u_ sf7df08f}    3_ hgs dxifL{ 

(%_ g]kfnsf] !* cf} /fli6«o lje"ltsf] gfd s] xf] <  

     s_ ho k[YjLaxfb'/ l;+x v_ z+vw/ ;vjf    u_ aneb|    3_ cd/l;+x yfkf  

(^_ g]kfndf slt slt ;jf]{Rr cbfnt 5 < 
a) One    b) Two    c) Three   d) Four 

(&_ k|b]z g+= @ df slt j6f dxfgu/kflnsf 5 < 
a) One    b) Two    c) Three   d) Four 

(*_ Tfnsf] dWo] s'g l7s xf] . 

s_ >L pRr cbfnt hgsk'/, c:yfO{ Ohnf; jL/uFh . u_ >L pRr cbfnt jL/uFh . 
v_ >L pRr cbfnt jL/uFh, c:yfO{ Ohnf; hgsk"/ .  3_ dflysf] ;a} . 

((_ lgoflos ;ldltsf] ;+of]hs sf] x'G5 <  

s_ kflnsf k|d'v  v_ kflnsf pk–k|d'v   u_ k|d'v k|zf;lso clws[t  3_ dflysf] ;a} 

!))_ 3/sf] gS;f sxf“af6 kf; x'G5 < 

s_ kflnsf   v_ k|b]z ;/sf/    u_ ;+3 ;/sf/   3_ dflysf] ;a} 

 

 

Best of Luck 


